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MIDTERM #3 
 

VERSION 1 
 

DO NOT BEGIN WORKING 
UNTIL THE INSTRUCTOR TELLS YOU TO DO SO. 

READ THESE INSTRUCTIONS FIRST. 
 
You have the class period of 75 minutes to complete the exam. The exam consists of 30 multiple 
choice questions. Each multiple choice question is worth 1 point for a total of 30 points. Please 
make sure you provide all information requested on the top right corner of this booklet and on 
the scantron sheet correctly. Please answer all questions on the coding sheet with a #2 pencil. No 
calculators or formula sheets are allowed. There are 11 pages in this exam booklet. 
 
How to fill in the coding sheet: 
 
1. Print your last name, first name, and middle initial in the spaces marked “Last Name,” “First 

Name,” and “MI.” Fill in the corresponding bubbles below.  
2. Print your student ID number in the space marked “Identification Number.” Fill in the 

corresponding bubbles below. 
3. Write your official discussion section number under “Special Codes” spaces ABC, and fill in 

the bubbles. You can find the discussion numbers below on this page.  
4. Write the version number of your exam booklet under “Special Codes” space D, and fill in 

the bubble. The version number is written on the top left corner and at the top of this page. 
 
• If you have any questions during the exam, stay seated and raise your hand.  
• When you are finished, please get up quietly and bring your code sheet and this exam booklet 

to the place indicated by the instructors.  
 
Sections: 
 
Disc 355 11:00-11:50am R Oya Ardic Disc 365 08:50-09:40am F Vien Huynh 
Disc 356 11:00-11:50am R Miaojie Yu Disc 366 08:50-09:40am F Young-Joon Park 
Disc 357 11:00-11:50am R Hyung Rok Yim  Disc 367 09:55-10:45am F Young-Joon Park 
Disc 358 12:05-12:55pm R Hyung Rok Yim Disc 368 09:55-10:45am F Miaojie Yu  
Disc 359 12:05-12:55pm F Hyung Rok Yim Disc 369 11:00-11:50am F Miaojie Yu  
Disc 360 01:20-02:10pm F Hyung Rok Yim Disc 370 11:00-11:50am F Hyung Rok Yim  
Disc 361 02:25-03:15pm R Vien Huynh Disc 371 12:05-12:55pm F Young-Joon Park 
Disc 362 09:55-10:45am F Vien Huynh Disc 372 01:20-02:10pm F Young-Joon Park 
Disc 363 11:00-11:50am F Vien Huynh Disc 373 08:30-09:20am R Oya Ardic 
Disc 364 03:30-04:20pm R Vien Huynh Disc 374 04:00-04:50pm R Young-Joon Park 
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Question 1: Use the following statements (#1 - #4) to answer the following question. 
 
For a monopolist to practice price discrimination, it must be able to: 
 
        (1) prove that there are legitimate cost differences that justify different prices. 
        (2) separate buyers into separate classes of consumers. 
        (3) calculate the willingness to pay of each potential purchaser or group. 
        (4) control each group’s demand for the product. 
 

A. Both (1) and (2)  
B. Both (2) and (3)  
C. Both (1) and (3) 
D. Both (2) and (4) 
E. Both (3) and (4) 

 
 
Question 2: It is the case that output levels will be highest when a firm is ________  and lowest 
when it is ________ . 
 

A. perfectly competitive ; a price-discriminating monopolist 
B. perfectly competitive ; a monopolist 
C. a price-discriminating monopolist ; a monopolist 
D. a perfectly price-discriminating monopolist ; a monopolistic competitive 
E. a oligopoly ; a perfectly price-discriminating monopolist 

 
 
Question 3: Suppose a perfectly competitive market has the following market demand and 
market supply schedules: 
 

Quantity demanded Price Quantity supplied 
9 $3 3 
8 $4 4 
7 $5 5 
6 $6 6 
5 $7 7 
4 $8 8 

 
    The perfectly competitive firms in the market are all purchased by a single, second degree 

price discriminating monopolist who charges two different prices: $8 and $6. Assume that the 
monopolist produces the allocatively efficient quantity of output for the market. What amount 
of consumer surplus is transferred from consumers to producers? 

 
A. 0 
B. $2 
C. $4 
D. $6 
E. $8 
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Question 4: As a result of using the marginal cost pricing rule to regulate a natural monopoly,  
 

A. the natural monopoly will incur an economic loss. 
B. the natural monopoly earns a normal profit. 
C. the monopolist produces an inefficient amount of product. 
D. the monopolist is allowed to cover all its costs and earn a normal profit. 
E. it yields a smaller consumer surplus than does a average cost pricing rule. 

 
 
 
Use the following information for Question 5 and Question 6: 
 

 Assume that you have a market where the demand for the product is linear and equal to 
QP 4100 −= . Also assume that all firms produce the good using a constant marginal cost 

function where 4=MC , no matter how many units are produced. 
 
 
Question 5: What price will be set in the market if a monopolist sets the price to maximize its 
profits? 
 

A. $12 
B. $36 
C. $52 
D. $56 
E. $60 

 
 
Question 6: What is the deadweight loss from the monopoly? 
 

A. $144 
B. $288 
C. $444 
D. $576 
E. $864 
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Question 7: Suppose there is a perfectly competitive industry and that the equilibrium price in 
the market is equal to $10. Furthermore, suppose that the representative firm’s marginal cost is 
given by:  

22
5
2

−= QMC   

and that the firm’s marginal social cost is given by: 

18
5
2

−= QMSC . 

If this firm produces the socially optimal level of output it will decrease production by: 
 

A. 2 units. 
B. 4 units. 
C. 6 units. 
D. 8 units. 
E. 10 units. 

 
 
 
Question 8: In a perfectly competitive world, which of the following statement is FALSE?  
 

A. The equilibrium wage is equal to the value of the marginal product of labor. 
B.  To maximize profit, the firm should hire the number of workers such that MRP=W. 
C.  To maximize profit, the firm should produce that quantity of output where P=MC. 
D. The long-run labor supply curve is less wage elastic than the short-run labor supply 

curve. 
E. Each firm is a wage taker. 

 
 
 
Question 9: Which of the following statements is TRUE? 
 

A. The perfectly competitive equilibrium is allocatively efficient. 
B. A perfect price discriminating monopolist produces the allocatively efficient output. 
C. A monopolist always produces the allocatively efficient output. 
D. Both (A) and (B) 
E. (A), (B), and (C) 
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Question 10: The Smallville City Council decides to install additional streetlights. Which of the 
following statements is FALSE? 
 

A. The new system may not be implemented if the council decides to provide it through 
the market mechanism. 

B. The Smallville residents are not likely to disclose the real value they place on the new 
system. 

C. The market outcome for the provision of the new streetlight system will be efficient. 
D. There will be a free rider problem in the provision of the new streetlight system. 
E. In order to find the market demand for the streetlight system, the city council needs to 

add the residents’ individual demands for streetlights vertically. 
 

 
Use the following information to answer Questions 11 and 12: 
 
Hally produces watches in a perfectly competitive output market and hires labor in a perfectly 
competitive market. The price of a watch is $5. As Hally hires more workers, watches are 
produced according to the following production function.  
 

Workers hired/week Watches produced /week 
1 10 
2 15 
3 19 
4 22 
5 24 
6 25 

 
Question 11: What is the marginal revenue product (MRP) of the second worker hired? 
 

A. 10 
B. 20 
C. 25 
D. 100 
E. 150 

 
 
 

Question 12: Suppose we know there is another watchmaker named Joe, and the wage at Joe’s 
firm is $17.50 per week. Assume that both the output market and the labor market are perfectly 
competitive. How many workers will Hally hire?   
 

A. 1 
B. 2 
C. 3 
D. 4 
E. 5 
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Question 13: Which of the factors below will cause the market labor demand curve to shift? 
 

A. Demand for the firm’s output changes. 
B. The price of a complementary input changes. 
C. The price of a substitute input changes. 
D. The number of firms in the market changes. 
E. All of the above. 

 
 
 
Question 14: What is the equilibrium outcome in the following game?  
 
  Player 2  
  Left Right 
Player 1 Up 10,10 -3,15 
 Down 15,-3   0,0 
 

A. Up, Left 
B. Down, Left 
C. Up, Right 
D. Down, Right 
E. The game does not have an equilibrium. 

 
 
 
Question 15: What are the dominant strategies for each player in the following game? 
 
  Player 2  
  Left Right 
Player 1 Up 100,10 -3,150 
 Down 15,-30   20,0 
 

A. Player 1: Up, Player 2: Left 
B. Player 1:Down, Player 2: Right 
C. Player 1: No dominant strategy, Player 2: Right 
D. Player 1: No dominant strategy, Player 2: No dominant strategy 
E. Player 1: Up, Player 2: No dominant strategy 
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Use the following figure to answer Question 16, Question 17, and Question 18: 
   P           P  
         MC       S 
          ATC     
     
     17            AVC          17  
     15                15  
     11             11  
 
                     
      5                5     D 
         qf       Q       
             10  12   18       
 Representative Firm     Market 
 
The graph above depicts the perfectly competitive market for carrots. The panel on the left shows 
the cost structure of a representative firm and the panel on the right shows the demand and 
supply conditions in the market. There are 200 carrot suppliers in the market. Assume this is a 
constant cost industry. 
 
Question 16: The short run equilibrium quantity in the market is ________ and the short run 
equilibrium price is ________ . Each firm supplies ________ carrots and makes _________ 
economic profits in the short run. 
 

A. 2000, 15, 10, negative 
B. 2400, 17, 12, zero 
C. 2000, 11, 10, positive 
D. 3600, 15, 18, negative 
E. 2400, 11, 12, zero 

 
Question 17: Which of the following statements is TRUE? 
 

A. In the long run, the number of carrot suppliers in the market will be more than 200. 
B. In the long run, the price of carrots will increase.  
C. In the long run, the quantity of carrots supplied by each firm will decrease. 
D. Both (A) and (B) 
E. (A), (B), and (C) 

 
Question 18: Which of the following statements is TRUE?  
 

A. The marginal cost curve for each firm is given by 5+= QMC . 

B. The short run market supply curve is given by 5
200
1

+= QP . 

C. In the short run, the carrot suppliers will continue production as long as they can 
cover their variable costs.  

D. The breakeven point for the firm is given by qf = 12. 
E. All of the above. 
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Question 19: In a perfectly competitive market, 
 

A. all firms are price setters. 
B. each firm produces similar but differentiated products. 
C. price equals ATC in the short run. 
D. price equals marginal revenue only in the long run since firms do not have any fixed 

costs. 
E. the consumer surplus is maximized. 

 
 
 
 
Question 20: Which of the following statements is TRUE? 
 

A. In order to maximize profits a firm has to set MR equal to price. 
B. In order to maximize profits a firm has to set MR equal to MC. 
C. In order to maximize profits a firm has to set MC equal to ATC. 
D. In order to maximize profits a firm has to set ATC equal to price. 
E. In order to maximize profits a firm has to set MC equal to price. 
 
 

 
 
Question 21: An apple grower has a total cost function given by the equation QTC 810 +=  
where Q is measured in pounds. The market for apples is perfectly competitive. The price of a 
pound of apples is ________ when the market is in equilibrium. 
 

A. $10 
B. $18 
C. $8 
D. $12 
E. Cannot be derived from the given information. 

 
 
 
 
Question 22: Which of the following statements is an example of a positive externality? 
 

A. Joon smokes in the classroom on a rainy day. 
B. When the price of notepads increases, Miaojie buys fewer pencils. 
C. Vien drinks coffee in the college library when she is studying. 
D. Oya buys cheese instead of butter when the price of butter increases. 
E. Rocky cleans the entry way to his apartment building. 
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Question 23: The market demand curve for good X is given by DQP 1.0300 −= . The market is 
a perfectly competitive market with 100 identical firms. The marginal cost equation for a 
representative firm given by QMC 20= . Which of the following statements is TRUE? 
 

A. The equilibrium price is $200 and quantity is 1000 units. 
B. If all 100 firms in the market are acquired by a big firm which will act like a perfect price 

discriminating monopolist in this industry, the equilibrium price would be $200 and 
quantity would be 1000 units. 

C. The consumer surplus in the market, if it is perfectly competitive, is $50,000. 
D. The consumer surplus in the market, if all 100 firms are acquired by a perfect price 

discriminating monopolist, is zero. 
E. All of the above. 

 
 
 
Question 24: Which of the following statements is TRUE? 
 

A. A subsidy for the producer of a positive externality would increase the private cost of 
production. 

B. The marginal social cost is greater than the marginal private cost for negative 
production externalities. 

C. The marginal social benefit is greater than the marginal private benefit for negative 
consumption externalities. 

D. Goods with negative production externalities are underproduced from the viewpoint 
of the society. 

E. A tax on the producer of negative externalities would decrease the private cost of 
production. 

 
 
 
Question 25: Which of the following statements is FALSE? 
 

A. Private goods are goods for which people can be excluded from using it and one 
person’s consumption prevents another person’s consumption. 

B. The optimal provision of public goods is determined at the point where the marginal 
cost to society equals the marginal benefit to society. 

C. The government can assign property rights or levy taxes to get rid of externalities. 
D. A tax on the producer of a negative externality would decrease the private cost of 

production. 
E. Positive externalities are benefits gained by third parties who don’t pay for the 

consumption or production. 
 
 
 
 
 
 



 10

Use the following information to answer Question 26 and 27: 
 
Joe, Sally and Mike live on the same street. Joe’s demand curve for snowplowing is  

QP 2100 −=   
where Q is the number of hours of snowplowing. Suppose Mike and Sally falsely report their 
demand for snowplowing as 

QP 25 −=  
(this represents Sally and Mike’s individual demands for snowplowing). In reality, Sally and 
Mike have the same demand for snowplowing as does Joe (but they don’t choose to reveal it!). 
Assume 8=MC . 
 
Question 26: Sally and Mike would like to 
 

A. pass a positive externality along to Joe. 
B. share the economic incidence of snowplowing with Joe.  
C. free ride on Joe. 
D. pass a negative externality along to Joe. 
E. benefit from the fact that snowplowing is rival but non-excludable. 

 
 
 
Question 27: If Sally and Mike do not reveal their true demands for snowplowing and the good 
is provided publicly (assume the allocatively efficient output is produced), then the equilibrium 
price and the equilibrium quantity will be 
 
 

A. $8 and 16.2 hours. 
B. $8 and 18 hours. 
C. $8 and 40.5 hours. 
D. $8 and 43 hours. 
E. $8 and 46 hours. 

 
 
 
Question 28: Monopolistically competitive industries are characterized by all of the following 
EXCEPT 
 

A. a small number of firms. 
B. zero economic profit in the long run. 
C. differentiated products. 
D. excess productive capacity. 
E. free entry and exit. 

 
 
 
 
 



 11

 
Question 29: If there is free entry in monopolistic competition, which of the following 
statements is TRUE? 
 

A. The demand curve facing a given firm will become more elastic as more firms enter 
the market. 

B. The demand curve for the monopolistically competitive firm will shift inward with 
entry of new firms. We would expect that at each price the firm would sell fewer 
units of output as more firms enter the industry. 

C. The demand curve for the monopolistically competitive firm will shift outward as 
consumer preferences for more variety will increase the demand for the good.  

D. Economic profits are positive for each firm. 
E. Both (A) and (B). 

 
 
 
 
Question 30: A collusive agreement is not enforceable because: 
 

A. a firm has an incentive to deviate because marginal revenue is greater than marginal 
cost. 

B. a firm will earn higher economic profits when it deviates from the collusive output. 
C. a firm will earn lower economic profits when it deviates from the collusive output. 
D. Both (A) and (B). 
E. Both (A) and (C). 

 
 


